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Wireless Sensor Networks

ZHAO Shi-junt?, ZHANG Zhao-hui?

(1. Research Institute of Petroleum Instruments, China University of Petroleum, Dongying 257061, China;

2. School of Information Engineering, University of Science and Technology Beijing, Beijing 100083, China)

Abstract This paper defines three basic conception including sensorial coverage, communication coverage and connectivity coverage, and gives
their physical models and mathematical models. It proposes the regular hexagonal node coverage model applying to 2-D region. It is proved that the
model can get coverage to repeat the least without loopholes in 2-D region. The least neighbor nodes to ensure connectivity coverage and
communication coverage are 6 for 2-D regional coverage based on the regular hexagonal node coverage model, when launching radius of the node is
greater than or equal to+/3 times of sensorial radius. Node’s sensorial coverage rate is 82.7%. Study result shows that the regular hexagonal node
coverage model is more suitable to the 2-D region.
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